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(1) Tea pot
(2) Tea tray
(3) Tea cup
(Dred color
(2)white color
(3)black color
(Dred color
(2)blue color
(3)black color
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(1) Tea pot
(2) Tea tray
(3) Tea cup
(1) teacher
(2) father
(3) mother
(1) card

(2) cup

(3) car

(1) Tea pot
(2) Tea tray
(3) Tea cup
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[t" s a tea cup

(D (2)

& @ Cr"

It’ S a tea tray
(2) (3)

T @ @

[t" s a tea pot
(D)
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[t" s not a tea pot
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20.

A:What color is 1t?
B:purple
(D

This is tea tray. That is a tea cup

(D (2) (3)
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A:What color is 1t?
B:green

(D

A: what do you see ?

B: I see a tea pot and a tea cup.

(D (3)
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